2/'6 I Acceleration Peried

9.81
=zt ) t.= 2.41s

Note  That  The deceleration time ty= tq

2 2 22 \2 31
V =Y + 2aas .(3.‘,) = 0%+ 2 L[ AS,

22
U=y + ot ¢ I © 0+

As = T.6lm= as
a d

Cruise period : AS. = 350-AS; —AS ;=335 m

AS=TUete ¢+ 335= 3Tt t.=548s

Total runtime t= tet+t +ty= 5985



2/ s=s,+yt+%g9t* _t=o

Sphere @ : H=Jijtzz
Sphere @ :

(H-w) = %9 (1)
With H=3m :‘l 9= ‘1.8\mls‘) ,
elimmnate  t, betuesn the | |
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2/
/23 'Uz ='\’oz+ ZQ(S"SOB

o= 4% 42 (E)s) s= 526m

- o= 9.8
V=Vo+at 1 0= 4T )by Ly = 163Is
Tt = Rtup = Z(I-KS\) = 326 s



288 | Set up X-y axes at A taget ot &

3} /vo
I :o-o_-
A
x B
X-eq. : Ng = fu, cos 30°)t }
4o+ Yg = (Vg Sin 30°)t-=zgtt

For ag= IR ') 33='°‘333“ Vo= 20.6 ftfsec
+ = 0.672 sec

sec
1+ =0.723 Ssec

Se The range 1S R0.6 £ v, < 22.4 Ft)sec

- / ) £t
For ag = 4] yaz=-0.333 : {m = 22.4




2I|0'5| A |
y e er_O.g

A A
fatoc= g
40.6 m
50 _ _ 100
—U(_\‘ = 3¢ - 13.%9 m)S) 'vﬁ‘ 3. - R78 m[s
- _ =27.%-1389 _
Vg = Vo vt | a, = ZLEEE o) 3 et
Nt 13.99 % 2
At A : ap= F = oo 4.5 m]s

Total: a7 /4,75%4 13892 = 4.95 m/s?
At B: Fsr ap=ag= 4795 m/sL}
4_qs=%.381"+ an

27.8%
an= 4715 = —f;jo—z- )

Pg= l63.0m



2/I15) (a) 6= &-0 o ; .
/125 ] N

'y._- fé 5/'/76 N T
z rewsmd 27 /6
Lo ré Lop

V= ré cose y P

2 rawtcos -
& 620, b:a Ty Y IO
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¥ =78 sinb
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Car A : Vg = \]o,g(q,gg)(gg)‘ = 26¢.3 Y'\IS

Car 85 Va=+0.8)(18)72 = 23.8 mls

Sa ’H(?g)

ta = - = = (052

A Va R6.3 0oL s

4. = S8 _ _n(12)+ 2(1)

g =8 = _
Va 23.8

Car A Wil Win t™e race!




2/s33 @ .= F-ré = 0-200(83) == 12000 mm[s?
. or a/,--/z.io.m/s’-
4=ré + 278 = 200(-20)#2(-300)(8) = ~8800 m/s*
or  Qy=- 8.80m/s?
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Ce
' 9 v =
=1V,{= VU CoS =
500

Numbkers - v' = 70 69.9 W\i[hr‘

\1500"-& 20t
The focdor of Cos® 15 the basis for the
statemedk Trat | kintmd:\c«lb , Yoder Can 31«\4

on Geeovek, or \o\.s, but net k\'g\'\) Spred  Mmeagurevatnt,
As Con be seep heueuwj adherence o T Spred
Wit (not relance wewn Qo3 Q) s the but ?\Ntﬂ‘.



s
/ U=36 = R5ms
a= 0.5 h\)sl
Vp=T = USIn4s'= 25% = 17.68 m]s
Vo= 16 *

-25cos 45" = 4065) 8=-0 0442 rud/s
Q,=r-r8" : - 0.5 s4s’ =

r - 400 (-0.04—4—7_)’“
F = 0.42F% m)sz

Qg = r6+2¢6 : 0.5sm45°= 4ooé+2(n.c,s)(—o.o44§

6 = 0.00479 ved|s®




2/['78" R= 075 + 0.5= 125 m, R = 0.2 wis

, R=-03 5t
- a
$=30 J

g = 10(7%) redls, g =0 & =zo (%.,)roqls) 0=0
VR = R = 0,2 mls
N 1 [ had)
Vg = Ré Cos § = 1.25(20 ,gg) Cos 3" = 0.378 =
Ré = 1.25 (16 9F) = 0.213 mis

V= \/va’w'uez + g =

g =

0.480 ms

ag = R = RPZ- R6%cos?p

z-03-128 (10X ) - 125 (=8 7h) e *30°

—

= — 04523 m)s*
Qo = tos $[2RO +RE] ~ 2Régsing
cos 30° [2(0.2) (20 7R ) +1.25(0) ]
= 2(128) (10 o) (20 T3 )sin 36° = 0.04483%
2R$ +R§ + RS “sing eas §

2 (0.2) (18 m) v 1.25(d)+ 125 (v EY o5 T
0.1358 m];

Q¢=

—
—
——

\
\/q‘:-fq:‘\—Q: = 0.474 wmls?




